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4. Matthew writes down three different numbers.
= One number is a square number.
= The other two numbers are factors of 20.
* The sum of the three numbers is 24,

What three numbers did Matthew write down? [3]

fOC,tOrB OF2 ............. : ........ , 12;4/5/ ..............
..... <,

Matthew's three numbers are ...










4. Matthew writes down three different numbers.
+ One number is a square number.

« The other two numbers are factors of 20.

* The sum of the three numbers is 24.

What three numbers did Matthew write down?

Matthew's three numbers are ... \3 ......... . \ O ........... -0 [P [










4. Matthew writes down three different numbers.
= One number is a square number.
* The other two numbers are factors of 20.
» The sum of the three numbers is 24,

What three numbers did Matthew write down? [3]










4.

59,10

B3

Answers in the spaces provided take precedence.

B2 for meeting 3 of the 4 conditions:

¢ the three numbers are different

e one number is a square number

¢ the other two numbers are factors of 20

e the sum of the three numbers is 24

B1 for meeting 2 conditions OR
for listing either three different square numbers
or three different factors of 20.
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4. Matthew writes down three different numbers.
= One number is a square number.
= The other two numbers are factors of 20.
* The sum of the three numbers is 24,

What three numbers did Matthew write down? [3]

fOC,tOrB OF2 ............. : ........ , 12;4/5/ ..............
..... <,

Matthew's three numbers are ...



Sticky Note

For this question, candidates had to find three numbers which fulfilled 4 conditions. Candidates usually wrote numbers which missed one of the three conditions - this candidate missed the requirement for the three numbers to be different.










4. Matthew writes down three different numbers.
+ One number is a square number.

« The other two numbers are factors of 20.

* The sum of the three numbers is 24.

What three numbers did Matthew write down?

Matthew's three numbers are ... \3



Sticky Note

This candidate didn't fulfill the condition for 'the other two numbers' to be factors of 20 - 1 has already been counted as a square number.










4. Matthew writes down three different numbers.
= One number is a square number.
* The other two numbers are factors of 20.
» The sum of the three numbers is 24,

What three numbers did Matthew write down? [3]



Sticky Note

This candidate has chosen three different numbers which add up to 24, however ignores the other two conditions.










Examiner
[
4, Matthew writes down three different numbers. o

* One number is a square number.
* The other two numbers are factors of 20.
¢  The sum of the three numbers is 24.

What three numbers did Matthew write down? [3]
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7. Find the value of 8x + 3y, when x =3 and y = -2. [2]











7. Find the value of 8x + 3y, when x =3 and y =-2. [2]











7. Find the value of 8x + 3y, when x =3 and y = -2. [2]
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i B2 | B1 for either 24 or -6. B0 for 24x or -6y.






		Q7 MS.pdf

		Mark










-

24
7. Find the value of 8x + 3y, when x = 3.and y = -2. [2]

...................................... B it




Sticky Note

This candidate substitutes into the given expression, however they do not remove the variables after substitution.










7. Find the value of 8x + 3y, when x =3 and y =-2. [2]

.................................................................................................................................................................




Sticky Note

This candidate shows lack of understanding of the basics of algebra.










7. Find the value of 8x + 3y, when x =3 and y = -2. [2]




Sticky Note

This candidate substitutes correctly into 8x, but incorrectly for 3y. This error was seen a number of times.










7. Find the value of 8x + 3y, when x =3 and y = -2. [2]











8. Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?
You must show all your working. [2]

Al.zeconds O T i P —
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You must show all your workinz. [2]
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Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?

You must show all your working. ,1_ K [2]
W s 1 T R ) S
....... 1.§..Second s~q 5‘7&1\05 i

G . s (1 e
A8 . .seconds. =24 ./











8. Intention to halve 9 minutes 18 seconds OR
double 4 minutes 48 seconds
NO, with sight of
4 minutes 39 seconds OR 9 minutes 36 seconds,
or 279 (seconds) AND 288 (seconds)
or 558 (seconds) AND 576 (seconds)

M1

Al

Accept equivalent statements e.g. Eira is wrong
Allow incorrect notation for time
e.g. 4.39, 9.36 (use of decimal points)

Alternative method 1

Correctly finding the difference between the two

times as 4 minutes 30 seconds OR 270 seconds
M1

NO, with comparison e.g. 4 minutes 30 seconds is
less than 4 minutes 48 seconds OR 288
seconds is more than 270 seconds Al

Alternative Method 2
Converting both times to seconds, before dividing
one quantity by the other M1

NO, with sight of 2(.06...) OR 0.4(84375...) Al

If no marks, award SC1 for attempting to find the
difference between the two times and comparing
this with 4 minutes 48 seconds.
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8. Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?
You must show all your working. [2]

Al.zeconds O T i P e—




Sticky Note

This candidate realised they could halve the larger time in order to verify Eira's statement, however they were unable to manipulate time correctly. This was a very common error.










. Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.

Is Eira correct?
You must show all your workinz. [2]

Aavbroas S b (Ve Wil f oF e t ldo.
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Sticky Note

This candidate halved only the minutes, forgetting to halve the seconds. This was a surprisingly common error.










Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?

You must show all your working. ,1_ K [2]
W s 1 T R ) S
....... 1.§..Second s~q 5‘7&1\05 i

G . s (1 e
A8 . .seconds. =24 ./




Sticky Note

This candidate knew that they needed to halve one of the times, however they clearly didn't know which one and halved both of them.










8.

Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?
You must show all your working. [2]

Examiner
only










4. Matthew writes down three different numbers.
« One number is a square number.
= The other two numbers are factors of 20.
* The sum of the three numbers is 24.

What three numbers did Matthew write down? [3]

Matthew's three numbers are ... ..., o Do and . ...



Sticky Note

This candidate writes three different numbers, two of which are factors of 20. The sum of their numbers is 17, not 24.











4. Matthew writes down three different numbers.
« One number is a square number.
= The other two numbers are factors of 20.
* The sum of the three numbers is 24.

What three numbers did Matthew write down? [3]

Matthew's three numbers are ... B, .. D and .. \a ...










8. Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?
You must show all your working.

Lenarns, 4Bsec S sec
X #

S \*‘) ........................... ) N

o o o SANS BRSOC...\ See

................................... i e

(2]




Sticky Note

This candidate simply converted both times to seconds. Without doubling the smaller value or halving the larger, this alone doesn't enable the candidate to check Eira's comparison.










8. Eira believes that 4 minutes 48 seconds is less than half of 9 minutes 18 seconds.
Is Eira correct?
You must show all your working. [2]
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